www.sforstudy.in

RRB NTPC Graduate 19th Jan 2017 Shift 3

IRoll No:
[Participants Name:
Test Center Name:

Test Date: 19/01/2017
Test Time: 4:00 PM 5:30 PM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Filli -
Fill in the blank: Question ID :9888374947

0,26, ———, 20,3042 Status :Answered

Ans J 112 Chosen Option :1

X 210

X 38

K46
Q.2 Which of the following States hosted the 35% National Games in 2015? .

) Question ID :9888374863
Ans x 1. Delhi Status :Answered

x 2. Goa Chosen Option :3

v 3 Kerala

7< 4. Andhra Pradesh

Q.3 Whizk of the followena & troe for o Car running o 8 conslen esdloraon oa &
wniferm straight soed® Question ID :9888374864

Ans : - - Status :Answered
75 1. Acceleration of the car is zero

/< 2. Velocity of the car is zero

Chosen Option :4

X 3
Acceleration of the car is continuously changing
W 4 Velocity of the car is constantly changing

Q4
What does UNHCR stand for? Question ID :9888374904
Ans 2 1. United Nations Human Capital Research Status ‘Answered

X 2 Chosen Option :4

United Nations Humanity Committee for Refugees

v 5

United Nations High Commissioner for Refugees
> 4

United Nations Humanity Commission for Refugees

Q.5 InDicarnber 2385 whe snce e following ron sppoenied an ke sew CEG of Ford Safety asd
Saberds Aotbonty of do (FESALT Question ID :9888374876

Ans X 1 Aghish Bahuguna Status :Not Attempted

. ] Chosen Option :
/< 2. Anil Kumar
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75 3. Yudhvir Singh Malik
' 4 Pawan Kumar Agarwal

Q.6 Hir. Mlahesk buyw ooy for Hs.25 and sells if for B=.30. Find the gin percentage.
Ans of 120 %

X2 22%

X3 25%

X4 21%

Question ID :

Status
Chosen Option

9888374940

:Answered
|

Q.7 Wik of ko folleswmy 1 conmdered Io be e gl v oloano oo Escth (u tenes of o g ssd
[rergemif!

/< 1. Ojos del Salado

75 2. Mount Vesuvius

\’ 3. Tamu Massif

7< 4. Mauna Kea

Ans

Question ID
Status

Chosen Option :

19888374875
:Answered

2

Q.8 [ivide s 108 in the ratio 326, The rupess in the respactive ratios am given by:
Ans X 1. 26, 66 & 77

o 2 26,65&78

X325 67 & 78

75 426,70 & 73

Question ID
Status

Chosen Option :

19888374918
:Answered

2

Q.9 WPALE s codad as 3193 EARTH 1 coded ax X268 koo 3 FEARL coded m i code?
Ans X 1.53289

X 2 53629

v 353260

& 4.53829

Question ID
Status
Chosen Option

19888374952
:Answered
3

Q.10 Al irrational number are numbers.

/< 1. integers
/< 2. imaginary
3. whole

v 4. real

Ans

Question ID
Status
Chosen Option

19888374914
:Answered
4

Q.11 Aislsphons bill conts Ba. 3550 for 5 mmules 51 ssconds What e she ook 1o rupses. far

4 miadnie 30 emardlr {Riiind T 0 one doeimal] Question ID :9888374919
Status :Answered
Ans 1.
( 58.6 Chosen Option :1
X 2587
X 3585
X 4588
Q.12 Find the fourth proportional to 12, 18, 20. Question ID 9888374913
Ans J 1. 30 Status :Answered
x 2 50 Chosen Option :1
X 335
X 4. 40
Q.13
The value of 3244 ? Question ID :9888374911
Status :Answered

Ans 324
1.
X 25

Chosen Option :

4
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162
25
162
N
324

5

Q.14 Top determine the health of a water body, what is measured?
Ans  of 1. Dissolved Oxygen

/5 2. Dissolved Fluorine

/< 3. Dissolved Methane
/< 4. Dissolved Calcium

Question ID
Status
Chosen Option

19888374868
:Answered
|

Q.15 Which of the following gases is also known as a “Stranger’ gas?
Ans  of 1. Xenon

X 2. Neon

X 5 Krypton

/< 4. Argon

Question ID
Status

Chosen Option :

19888374867
:Answered

N

Q.16 A question and two statements labeled (I), (II) are given. You have
to decide which statement(s) is/are sufficient to answer the question.
‘What is Rashmi’s rank in the class?
1. There are 25 students in the class.
II. There are 8 students who have scored less than Rashmi.

+ 1 Both the statements together are needed.

# 2. Statement I alone is sufficient.

# 3. Statement II alone is sufficient.

7 4. Either I or I alone is sufficient.

Ans

Question ID
Status
Chosen Option

19888374977
:Answered
1

Q.17 A saopkewpar chesis fo fba avies of §3% whde v aed sellieg Ewis, by oizg eopenad

weightin His foeal puen, s percertnge, & Question ID :9888374930
Status :Answered
Ans 1.32.75
x ) Chosen Option :2
v 2 3225
X 3 32
X 4325
Q'18 The iak oty i iy ool bt ptia g i b vy pmdisin o omed b o .-l’lﬂul--l-::'-
e e A el = e ey T Question ID :9888374939
Ans x 1 175 J,r‘ 7 Status :Answered
Chosen Option :3
X 2 176/21
W3 176 /7
54 176
Q.19 Jawahar Rozgar Yojana (JRY) was started with effect from
A i Question ID :9888374882
ns x 1. Aprﬂ, 1,1877 Status :Answered
52 April, 1, 1998 Chosen Option :1
X 3 April, 1,2012
o 4 April 1, 1989
Q.20 T 2004 Excbden Truce U Octie’' it Imi &1 o weies of Mars mimicon o be usdertalon
Question ID :9888374896

easily by e baoe spacs apencas, Eurapeen Space Apency JESA) axd
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Ans X1 NASA USA
/< 2. JAXA, Japan
75 3. ISRO, India

'f 4. Roscosmos, Russia

Status :Answered

Chosen Option :3

Q21 Compute: 10584=168-63
Ans K11
v 2o

Question ID :9888374909
Status :Answered
Chosen Option :2

Q.22 Which is the correct ascending order of the given numbers?

e AFeslE o, 7 SHFEETIE @Eit aEm?

Ans 2

4
Xi1—.03.=
9

203,

2

O | e

7
2
7
2 4
Wwi3Z.03,—

7 9
2 4
4, —  —

L :G-
79

L]

Question ID :9888374910
Status :Answered
Chosen Option :3

Q.23 Frantifts t e igesn by of Coddvie: nver seoneieg T combrars] wites of The Prigines

ETIAE, mrerand the WRinpmnT reoer

Ans  of 1 Wardha
/< 2. Koyna
/< 3. Tapti
# 4. Ulhas

Question ID :9888374907
Status :Not Attempted
Chosen Option :

Q.24 Tiars sm ol 14 seadesin ma soal o which f--nn Faral the mawbanr o girts in e ikl

Ans X 1.100
X 2 60
v 3120
# 4. 80

Question ID :9888374908
Status :Answered
Chosen Option :3

Q.25 The Meenakshi Temple is located in -
Ans  of 1. Tamil Nadu

/< 2. Rajasthan

7 3. Maharashtra

/< 4. Punjab

Question ID :9888374874
Status :Answered

Chosen Option :1

Q.26 4
If Sin x =3 then Secx + Tan x=?

Ans - X 1.37/20
/< 2.31/12
W33
X 41/3

Question ID :9888374938
Status :Answered

Chosen Option :3
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Q.27 Which of the following sports is Korada Ramana related to? Question ID :9888374861
Ans 2 1. Football Status :Not Attempted
> 2 Swimming Chosen Option :
o 3 Weightlifting
/< 4. Archery

Comprehension:

Study the following information carefully and answer the
question given below it:

In a certain town, there are 5000 people. Out of them, 1200 do not
subscribe for any newspaper, 2700 subscribe to ‘The Indian

Express’ and 1800 subscribe to “The Hindu’.
SubQuestion No : 28

ng How many subscribe to “The Indian Express’ only?

Question ID :9888374970
Ans 11100 Status :Answered

_ Chosen Option :2
W 2.2000
< 3.2500
< 41800

Comprehension:

Study the following information carefully and answer the
question given below it:

In a certain town, there are 5000 people. Out of them, 1200 do not
subscribe for any newspaper, 2700 subscribe to ‘The Indian

Express’ and 1800 subscribe to “The Hindu’.
SubQuestion No : 29

ng How many subscribe to both the newspapers?

Question ID :9888374971
Ans x 1. 3800 Status :Answered

Chosen Option :3
# 2.1000

W 3. 700
< 4500

Q.30 -
Complete the Analogy : Question ID :9888374944
When : Where :: Time : ———- Status :Answered

ﬂlﬁ“ﬁ\ﬂﬂ ﬁ"f EEH Chosen Option :3
PAN : (P 2 2 AT 2 oo

Day
X1
" o

Watch
X 2

s
s DPlace
3.
v 1G]
x Money
4.

DR

Ans

Q.31
Question ID :9888374948
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Find the next term of the series:

1. GEI
M0Q. SUW, YAC, ——
X 2 EIG

/< 3. DBF
v 4 EGI

Ans

Status :Answered
Chosen Option :4

Q.32 Mohiniyattam is a classical dance form of
Ans X 1. Maharashtra

#< 2. Tamil Nadu

/< 3. Rajasthan

v 4 Kerala

Question ID :9888374886
Status :Answered
Chosen Option :4

Q.33 »ir Bewamii invewiad B 04, 000 o FE How srsch mall bie et on st o/ e arvsiod im0 %
=ar e conpoaad e fzr fmerkba cormperzeded qussaek?

Ans X' 1 Rs. 15,437
< 2. Rs. 15,434
/< 3. Rs. 15,436
o 4 Rs. 15435

Question ID :9888374928
Status :Answered
Chosen Option :4

Q.34 Kyoto Climate Change Conference took place in
Ans X 1. December 1994

' 2. December 1997

# 3. December 2000

# 4. December 2004

Question ID :9888374872
Status :Not Attempted
Chosen Option :

Q.35 The mean of the data 8§, 0,3.3,1,7.4, 1,4, 41s:
Ans x 1.3

v 235

X 3375

X 4325

Question ID :9888374941
Status :Answered
Chosen Option :2

Q.36 Th=ardsr of ke layws of ik simesphare from e serth's surdses {meving s from e
(113 FTe kel )

T-EEN (WE AYEIMEE FAE e e u-d s S e

Ans ( 1.

Troposphere — Stratosphere — Mesosphere — Thermosphere
ECFAE - FGEISIE - GONEeIE — AIE1EEIr
X 2

Mesosphere — Stratosphere — Troposphere — Thermosphere
RS - BEIRPAE - FCIReIE - AefFeamE
X 3

Stratosphere — Troposphere — Mesosphere — Thermosphere
ECIEAE - FCNREAE - GONESIE — A ReamE
< 4

Mesosphere — Troposphere — Stratosphere — Thermosphere

CTPsaTE - EeNPeaE - SNEIReE — AeiteaE

Question ID :9888374870
Status :Answered
Chosen Option :1

Q.37 Whark of e Gdkodiag oo (e i ros i spiin B b4 gt ol be o - aioed odmmsils chas pa?

Ans 1. Ursus maritimus

7< 2. Panthera tigris
+ 3. Bramble Cay melomys

Question ID :9888374902
Status :Not Attempted
Chosen Option :
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75 4. Panthera uncia

Q.38 By rearranging TUOONRD, what do you get?

Ans

TUOONRD—(F WIo@ e & seea?

x 1 WName of a river

9%f6 =Tag =

MName of an animal
aF6 TF 9™

WName of a flower
AFf6 FET TN
Name of a train

9F6 (FEF AR

> 2
s

v

Question ID :9888374968
Status :Answered
Chosen Option :4

Q.39 Given below 1s a statement followed by some conclusions. Decide which

of the given conclusions logically follow(s) from the given statements.
Statement:

The best evidence of India’s glorious past 1s the growing popularity

of Ayurvedic medicines in the West.

Conclusions:

I: Ayurvedic medicines are not popular in India.

II: Allopathic medicines are more popular in India.

Question ID :9888374979
Status :Answered
Chosen Option :1

Ans  of 1. Neither I nor II follow
7< 2. Only conclusion IT follows
2 3. Either I or II follows
7< 4. Only conclusion I follows
Q.40 The Angamans ard Micobar are separaied by e Lok 15 150 krn wide
Ans X i Question ID :9888374906
1 Kardiva Channel Status :Answered
J 2. Ten Degree Channel Chosen Option :2
/< 3. Nine Degree Channel
/< 4. Mozambique Channel
Q.41 Inlsbeck 36, whach af the fallowing bicephers sy was inchudiad m UNESOO s Warkd
Nettoeek of Biissphess Ressmest Question ID :9888374901
Ans  of 1. Agasthyamala Biosphere Reserve Status ‘Answered
) T Chosen Option :3
/< 2. Nilgiri Biosphere Reserve
X 3. Nanda Devi Biosphere Reserve
7< 4. Simlipal Biosphere Reserve
Q.42 1% men built & ship moded 2 7 davs How many deys weadd it take for 15 oea™ i
Ans x Question ID :9888374920
1.8.7 Status :Answered
x 2.85 Chosen Option :3
v 384
p hel
5
Q.43 i i i jag?
What will be the next number in the following series? Question ID :0888374946
0,2,9 28,65 ——-- Status :Answered
Ans x 1. 81 Chosen Option :4

v 2 126
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X 3. 256
X 4125

Q44 ‘Who among them is the tallest?

Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren is shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 44

Question ID :9888374963

Ans x 1. Govind Status :Answered
Chosen Option :4
7< 2. Jeyanth
#< 3. Naren
¥ 4. Ashish

Q54 Which can be definitely deduced from the data?

Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren 15 shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 45

Question ID :9888374965

- . . Status :A d
Ans  of 1. Kamal is shorter than Govind. as -Answere

Chosen Option :1

#< 2. Jeyanth is the 27 tallest among the five.

/< 3. Kamal and Jeyanth are of same height.
#< 4. Govind and Jeyanth are of same height.

Ans

Qé4 Who among them is the shortest?

Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren is shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 46

Question ID :9888374964
< 1. Ashish Status :Answered

. Chosen Option :4
< 2. Govind

7< 3. Kamal
\f 4. Naren
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Q.47 Below are given statements followed by some conclusions. You
have to take the given statements to be true even if they seem to be
at variance with the commonly known facts and then decide which
of the given conclusions logically follow(s) from the given statements.
Statement:
All caps are books. All books are pens.
Conclusions:
I: Some caps are not pens.

II: Some pens are caps.
Ans o 1. Only conclusion II follows

/< 2. Only conclusion T follows
75 3. Neither I nor II follows
75 4. Either I or II follows

Question ID :9888374967
Status :Answered
Chosen Option :1

Q.48 Given below is a statement followed by some conclusions. Decide
which of the given conclusions logically follow(s) from the given
statements.

Statement:

Industrial Revolution, which started in Europe first, has brought
about the modern age.

Conclusions:

I: Disparity between rich and poor results in a revolution.

1I: Revolution overhauls society.

e 23 [9fe 9 oF 79 FEt farw @emn
@m [T FFa @ awe [REfesfie @@ Fam (g

JEBreerd SepEd Fam|

fergfo:

ey fzm, W e SET BF AR, ©f SIS
oTH STe B

[EEDES

It 5l AT WEEA WEP (GACTE B@ G929 96

Il: RET PIST SRE e S|

Ans x 1 Either I or IT follows
TR oET SEHAT PAMR

Neither I nor II follow
2,
e | 1 1 (@FERE SEEET FArT Al
~ Only conclusion IT follows
&)
BT W@ 1| S FAR
Only conclusion I follows

x4'nqmﬁﬁrﬁﬁ | SHAT FAR

Question ID :9888374980
Status :Answered
Chosen Option :3

Q.49 Almatti Dam is a hydroelectric project on the river. )
; - Question ID :9888374871
Ans  of 1 Krishna Status :Answered
x 2. ¥Yamuna Chosen Option :3
X 3 Kaveri
X 4 Godavari
Q.50

Question ID :9888374956
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If A denotes +, B denotes x, C denotes + and D denotes —, then

Ans
L?E 1251194CSD6: ___________
X 263
< 3 36

W 4 53

Status :Answered

Chosen Option

4

Q51 A DVD is an example of -

Ans ¢ 1. Solid-state storage device
/< 2. Output device
X 3. Hard disk
W 4 Optical disk

Question ID

9888374892

Status :Answered

Chosen Option :

3

Q.52 If the peodect of two senbens 13 3360 and thew LOM i 96, thes ther HOF s

Ans  of 135
X 233
X 334
X 429

Question ID

19888374916

Status :Answered

Chosen Option

1

Q.53 What is the highest denomination note ever printed by the RBI?
Ans 1. Rs. 1,00,000

+ 2 Rs. 10,000

/< 3. Rs. 5,000

/5 4 Rs. 1,000

Question ID
Status
Chosen Option

19888374899
:Answered

2

Q.54 Taavad pas scadatn @ s P, Mmates af R beary, S omsdi Fraths lasebed atéch of G falow g

Ans o 1. Mission ‘Zero Accident’
75 2. Mission “Rail Efficiency’
7< 3. Mission ‘Unmanned Crossings’
/< 4. Mission ‘Rail Safety’

Question ID
Status
Chosen Option

19888374895
:Answered

|

Q.55 Which of the following was India’s first Lunar Mission?

fEiea (@Ef eFtes 7% b (FAE) e e
Ans Aditya

X s
X2 AVATAR
Saeld
e Chandrayaan-1
BEATE-S
ASTROSAT

4 .

Question ID
Status
Chosen Option

19888374879
:Answered

|

Comprehension:
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Ans

Following is a record of the performance of a football team for the

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 56
Q6-5 What percent of the matches did the team win overall?

W 1 58%
X 2.80%
X 3. 75%
X 452%

Question ID :9888374974
Status :Answered
Chosen Option :1

Comprehension:

Following is a record of the performance of a football team for the

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth ] 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 57

Q7-5 Which tournament was the best for the team?

Ans

« 1 Third
< 2. First
< 3. Fifth
/< 4. Fourth

Question ID :9888374973
Status :Answered
Chosen Option :1

Comprehension:
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Following is a record of the performance of a football team for the

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 58
Qé5 How many matches did the team win during the year?
Ans X 1. 50
X 2.21
V329
K 425

Question ID :9888374975
Status :Answered
Chosen Option :3

Comprehension:

Following is a record of the performance of a football team for the

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth ] 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 59
Q9-5 Which tournament was the worst for the team?

Ans  of 1. Seventh
#< 2. Second
# 3. Sixth
#< 4. Fifth

Question ID :9888374976
Status :Answered
Chosen Option :1

Q.60 1 > demeden+, < dmcies —, + doncies -, ¥ denal ~ dierwbey = |« deeoten = and = deenbe
Zhrows far comect daiemend from e ooy

Ans X 1.9+9>9=9
K290<T7+7=6
K3 T#ET>T+T7=7#7>1

Question ID :9888374954
Status :Answered
Chosen Option :4
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Vi7>7<7+7=14

Q.61 In which of the following states is the ‘Loscong Festival® annually held?
Ans 1. Nagaland

#< 2. Uttar Pradesh

v 5 Sikkim

X 4. Uttarakhand

Question ID :9888374897
Status :Answered
Chosen Option :1

Q.62 Complete the Analogy -
Speaker : Listener :: Film : ——————-

SISl R

IHT : (el ¢ ¢ e -
Ans Viewer
v 2l
THE
Critic
2.
x HHTAF
Actor

x?"@%ﬁﬁi

X4 Broadcaster

Question ID :9888374945
Status :Answered
Chosen Option :1

Q.63 Axenvissged iz e Comibthibon of bedia, lhe Yics-Prandeal of ledia ta elecied by

sty M SRt srren Senpais e wn faefte T, SfE e -
Ans 1 The President of India
W2

The elected members of both Houses of the Parliament
HeHhE @'ﬂ TaEd Fdbe STwsiyse
X3 The members of Rajya Sabha

ASTeE AR
The Prime Minister of India

x4'@|ﬁt@aﬂm§’r

Question ID :9888374865
Status :Answered
Chosen Option :2

Q.64 M Vigasa fakos b odil of 9 howis 55 mienles is ooy @ didees ml sodig ek 1 s
il wkeie il womnel Sl couk] wall Sk wais in 17 bes 20 mikiies The tan: nkes By ey

mmbth pmam

Ans X 1. 7 hours 45 min
7< 2. 7 hours 35 min
X 3.7 hours 15 min
« 4. 7 hours 20 min

Question ID :9888374924
Status :Answered
Chosen Option :4

Q.65 1If Dumirmad 15 coiled Oalil, Gl b el Sabver, Sdver o calieal Ercrald aivd Edecrild i callad
Relry, nhich @ the bardes retaimce?

Ans 1. Ruby

v 2 Gold
< 3. silver
7< 4. Emerald

Question ID :9888374953
Status :Answered
Chosen Option :2

Q.66 Adme=ie by kil it ol prov ahing qraliny e oo S0 el 3T sk wes ksl
by tha Eevemene

Ans B 1. Uttar Pradesh

Question ID :9888374859
Status :Answered
Chosen Option :1
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v 2. Odisha
X3 Maharaghtra

/< 4. Bihar

Q.67 Tzt siani o sbouim ok aa nlerad of § morbes d move wid o speed of 12 kedem
i sane reciun. 'Wath bew misch spred flen e ) shoubd o worsa cusung Som e cppoata
direaiien bowerds Hs boses trees] bo maeel the besss ol oferval of 3 mirarest

X165
X 26

1

3. A=
X3 62
#’4.62

Ans

Question ID :9888374923
Status :Answered
Chosen Option :4

Q.68 Find the similarity among the following dance forms.
Kathak, Kathakali, Bharathanatyam, Madhubani

Ans  of 1. There is no similarity at all

7< 2. All these originated in North India
/< 3. All are practiced by female artists only
#< 4. All are South Indian dance forms

Question ID
Status
Chosen Option

9888374958
:Answered
4

Q.69 T Hiirse of this Prapde (Lok Sabing] consiah af ack assie die
= dresi slecton ca by from ferrarnl carairaenci ke Shrla

X 1.550
X 2518
v 3530
X 4.525

iteiplnrs Hhivn

Ans

Question ID
Status
Chosen Option

19888374881
:Answered

|

Q.70 Thr couk dufferencs between L g poce of en sdacks el o peafi of & %6 aod 8 Yo Be 3 Thae
rutm of brs sl lag; prizes

X 1.25:27
v 2 2627
X 3.26:31
X 42629

Ans

Question ID
Status
Chosen Option

19888374931
:Answered

2

Q.71 Armange the given English words @ alphabetical arder andl choose the ane thal comes Grx
Ans X 1. Quarry

25 2. Quarter

/< 3. Quarrel

v Qualify

Question ID
Status
Chosen Option

19888374949
:Answered

4

Q.72 Axperihe Ruleay Budsa 2914 SMART conchen wers propessd for mome cosdoishle
yiEnevd Whad does SMART dmil foe?

F 0

Scientifically Modified Automatic Refreshing Travel

X 2

Scientifically Modified Aesthetic Refreshing Travel

X 3.
Specially Modified Automatic Refreshing Travel

+ 4 Specially Modified Aesthetic Refreshing Travel

Ans

Question ID
Status
Chosen Option

19888374885
:Answered

1

Q.73 Find the odd one out:

FEfafiesfE Jur (i Tt @G s

Question ID :9888374957
Status :Answered
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Ans Tailor

wfdy

Carpenter
Reld

&

Goldsmith

FAFTE

J , Teacher

P

1
&2
X 3.

Chosen Option :4

Q.74 “which of fe Sollowing cosnines: passsd ity finst Al Temorsm law m Decamber 20157
Ans X 1. Australia

75 2. Syria

X 3 India

v 4 China

Question ID :9888374898
Status :Not Attempted
Chosen Option :

Q.75 Mia Rrvathi berrawsd Ra. 600 al £45 par snsum sunph mieresl. Whai amounl (s ngraea) wall
sk pav ba ches bay dubs afier 4 yoa?

Question ID :9888374926

Ans X" 1700 Status :Answered
Chosen Option :3
X 2150
v 3 744
X 4144
Q.76 & =8 piece abmiware code that cas b applend afer the softwars proges ha bom

ualalksl, o comecl s with Lo proyran.
Ans X 1. Tutorial

/X 2. FAQ
\’ 3. Patch
< 4. Version

Question ID :9888374890
Status :Answered
Chosen Option :3

Q77 If + imeans =, < means +, — means <, = means —, then

(=4 -84
e F+i6+1

Ans X 1.8
V20
X 31
X 44

Question ID :9888374955
Status :Answered
Chosen Option :2

Q.78 Simon Commission of 1927 was boycotted -

1927’49 NRwe = aftgE 47 @™ -

Ans x to protest the arrest of Mahatma Gandhi
1.
TARTET TR (IFelFd Afeam

v

as Indians were excluded from the Commission

BIFeAME FRME (A@ 9% (W8T TS
X 3.

to protest the inclusion of Sir John Simon in the Commission
FEAE WA O ARAAE SGee A Aeaim
< 4

Downloaded From : www.sforstudy.in

Question ID :9888374905
Status :Answered
Chosen Option :2
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to protest against the Jallianwala baug massacre

ST A5 SemelE Ahedim

Q.79 Wl imeng thet Sl bk o W eom Rorred tha * 1045 300 Ernarptg PR e of th Vira™ Uil
A Question ID :9888374862
ns x 1. Joe Root Status :Answered
+ 2 Josh Hazlewood Chosen Option :2
7 3. Steve Smith
7 4. Mohammed Shami
Q.80 uir. Pramd trv ellad sgual didomees ab speade of 2 kenikr 4 bnthr, and & kmEr, and ik s
fotal o 25 At 1o conpleie. Find dis wtal disanss he tonedled, i dan Question ID :9888374925
Ans x 19 Status :Answered
' Chosen Option :4
X 21
X34
a3
Q.81 Jfastce i ¥ Shak Coxsufian was awiup b work. oo b dapuis noggerdgy Od asd Clas bleck =

K Bain beween DG zxd Question ID :9888374858
Ans  of 1. Reliance Industries Ltd Sta.tus Not Attempted
x Chosen Option :
2. Essar O1l
/< 3. Hindustan Oil Exploration Company Ltd
7€ 4. Bharat Petroleum Corporation Ltd
Q.82 Saha Institute of Nuclear Physics is located in - Question ID ‘9888374893
Ans x 1. Tamil Nadu Status :Answered
x 2. Delhi Chosen Option :4
< 3. Maharashtra
+ 4 West Bengal
Q.83 Rj { 1 in -
Right to Education became a fundamental right 1in Question ID :9688374869
Ans  of 1 April 2010 Status :Answered
x 2 Aprﬂ 2004 Chosen Option :2
X 3. April 2008
X 4 April 2012
Q.84 Which uf the following 1z MOT 1 Fomdameeats] Dy as per ihe Coashfetion of ndia?

Ans

Fmss i e wPem =gl el @i wde -
1

to safeguard public property and to abjure violence

FAHIECE IS A% 93 WETel TRIHS S99 FA1
X 2.

%2 vahes and presarce the rich heritags of car comgestte culbues

wTeR i syiEw EwT ATETE TEm e 4 mEsd
X 3.

1z chenak mad foll ow the patle sdaab whach opuwd oar zabicos] draggle Gn feedoxm
o T AmTal afsaee o e L ol witse e S SR
SrAHTE - S e

to vote in public elections

v N FEeE (@h (WsHT

Question ID
Status
Chosen Option

19888374880
:Answered
3

Q.85

Question ID :9888374883
Status :Answered
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2014, the Bsserre Hazk of kedia (RE) adepied e new
mfatiog

an b ey owanss of

Chosen Option :2

Ans ..\« IPI (Import Price Index) e

Kot IPI (3901 213 3900)
v

CPI (Consumer Price Index, rural and urban, combined)

CPI (FIHTHE ARET IA(OH, FAM NG NG, FAF6 )

x WPI (Wholesale Price Index)
3.

WPI (R0 SRY 24003)
x PPI (Producer Price Index)

* pPI (CTESTTE RS 2(03)

Q.86 Find the next term of the series:
3F, 6G, 111, 18L,
Ans X 1. 25N

Question ID :9888374950
Status :Answered
Chosen Option :4

X 2. 27N
< 3.25P

W 4 27P

Q87 gimplify: (3y)* +x* — (22
Ans x 1. xi-5y?
x 2. x1+y1

Question ID :9888374933
Status :Answered
Chosen Option :4

x 3. xl_yl

“ 4 xt45y7

Q.88 In Famary 2016,

Ans  of 1. Bhagwant Singh Bishnoi
# 2. Anil Wadhwa

o0k charps 2% the India's ambazsador m Thailand

Question ID :9888374877
Status :Not Attempted
Chosen Option :

/< 3. Pinak Ranjan Chakravarty
7< 4. Harsh Vardhan Shringla

Q.89 A wearsan unvests Fa, S50 ut the winct of wack vear ol 5% conpoend miemsl pe suus. How
oz b will by direesiasal e 0 the tid o the 7 pear?

Ans 2 1. Rs. 8601

Question ID :9888374936
Status :Answered
Chosen Option :4

X 2. Rs. 8615
X 3. Rs. 8600
W 4 Rs. 8610

Q.90 According lo dets fram NASA Y Camue miseon, = 'global ccean’ hes bmealk e sy onal of
Satemis noon named

Ans 2 1. Tethys

/< 2. Mimas

Question ID :9888374894
Status :Not Attempted
Chosen Option :

/< 3. Rhea
\’ 4. Enceladus

Q.91

Question ID :9888374966
Status :Answered
Chosen Option :4
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Below are given statements followed by some conclusions. You
have to take the given statements to be true even if they seem to be
at variance with the commonly known facts and then decide which
of the given conclusions logically follow(s) from the given
statements.

Statement:

Some ducks are birds. Some birds are cows.

Conclusions:

I: Some ducks are cows.

II: Some cows are ducks.

NE FEFC [ - SR FEI6 HEE (T
T S HF e 79 (@ fma fAqfesf e,
wEE I Gl SEEIeE e I9ET (IF f$Es
R oETE [T FAE @ (@ v RgfesfT@ @E

Pram (o) JfemeerE wyET Fam|
fagfs:
Ans < Only conclusion II follows
Grarg, ST FTER 11 SIPFT FAR
Either I or II follows
g
3 | A1 SENET FEAm

"_ =T HFA RITTH

*Only conclusion I follows

< 3.
BT W@ | SeET FAR
v Neither I nor II follows
4.
I 99 1l (FEGE SeSaT FaR Al

Q.92 Mr Anuxn boreorasd Ral S50 2l 4% par s comground misred The comprmd inkasesd
Question ID :9888374927

Status :Answered

pormipoTmdad. aranally for ! yean i

Ans f 1.
« Rs. 5304 Chosen Option :1

/< 2. Rs. 7300.4
/< 3. Rs. 5034
/< 4 Rs. 70304

Q.93 Which oaa of 1he followtzg has tle largest popuolation i & food chain?

_ = Question ID :9888374888
frfefiwafer wen amE yrn Tumy Wb s e

Status :Answered
Ans Secondary Consumers Chosen Option :4

1.
ey IET ANS
X 2 Primary Consumers

Decomposers
3.

BCIEED

Producers

" TRAME

Q94 If G =7, EXCEL = 49, then ACCEPT = - Question ID :9888374951

Ans 5K 1. 343 Status :Answered
K 249 Chosen Option :3

W 5 48
< 458

Q.95 Elephants, Bears and Rhinos are examples of - Question ID ‘9888374887
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Ans 2 1. Birds

', 2. Mammals
7< 3. Amphibians

/< 4. Reptiles

Status :Answered
Chosen Option :2

Q.96 TNSAT-2E was launched from
Ans X 1. India

'f 2. French Guiana

3. Peru

/< 4. Mayotte

Question ID :9888374878
Status :Answered
Chosen Option :1

Q.97 Mk Hajesh i bwrest na poed o worker m M. Yiskal and kopeter thay famb o pasce =l wark m 2§
duye Ln ko macy fava wall Vishal aloes ah e work®

Ans X 1.56
X 2112
R
2 480

Question ID :9888374922
Status :Answered
Chosen Option :3

Q.98 What is 15% of 757
Ans x 1.11.%

X 21175
X< 311
W 41125

Question ID :9888374934
Status :Answered
Chosen Option :4

Q.00 Th Cispirenaien fx the Brekibases; of Chorti=d Wenposs (CPUW] & bowdquarsred n
Ans  of 1. Netherlands

# 2. Switzerland

X 3. Sweden

X 4 Denmark

Question ID :9888374873
Status :Not Attempted
Chosen Option :

Q.10 1 b e Tond gl of e 0] Dricbed pee Moo, vie e Aal Satvegridin . begtn with
0  MCabisirra Condbne rearsibten rarch Bam

Ans  of 1. Sabarmati
# 2. Dandi
/< 3. Bombay

< 4. Delhi

Question ID :9888374884
Status :Answered
Chosen Option :1

Q.10 Dinesh is brother of Rakesh. Renu is sister of Ajith. Rakesh is son of
Renu. How is Dinesh related to Renu?
Ans X 1. Brother
v 2 Son
X 3. Uncle
#< 4 Father

Question ID :9888374960
Status :Answered
Chosen Option :2

Q.10 A waterinek b twa lislea The 17 kole &'oie erpgiies @3 tank m 3 mmmles sod 2 hols a'oss
2 prmpees the tank n L mimstes IF oaier bk san af 4 ooy rae, hos ey teimes ol i
taku, 5F broik fan Boles togstar wephy th task?

4
1. —
x :
4

2. 42
v :

Ans

Question ID :9888374921
Status :Answered
Chosen Option :2
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3

3.42
X :
X 4 4%

Q.10 & Masje sk bus For Ba. 17 008 01 & dowm of 1586 Ak what price skould the bus e aold 0 gel
3 a prafilaf B9800

Ans  of 1 Rs. 23,000
< 2. Rs. 23,500
< 3. Rs. 24,000
< 4. Rs. 24,500

Question ID :9888374929
Status :Answered
Chosen Option :1

Q.10 T i climim Vel o ot wooeed 21 sinbikot oot o 25 ciarki Tl ot w i ko 1o piyisybiget teomum:
4

Ans X 1.85
# 2.83
R
X 486

Question ID :9888374932
Status :Answered
Chosen Option :3

Q.10 ThisCezeva [ Confeeecs was o Unitad 2shoas-Tecked lalemsh oaal pasos conferencs ox e
5 htweuf

Ans 31 Tran
& 2. Pakistan
/< 3. Iraq
o 4 Syria

Question ID :9888374860
Status :Answered
Chosen Option :3

ng How many gigabytes make a terabyte?

Ans X 1.128
X216
X 3256
v 21024

Question ID :9888374891
Status :Answered
Chosen Option :4

Q.10 Inihe Raibnay Bralpsd 2518 whech of the folkamg was MOT nechored as the plars of
7 eiegy for Indide Rademins®

Ans & 1. Nav Arjan
# 2. Nav Manak
' 3. Nav Nirman
# 4 Nav Sanrachna

Question ID :9888374900
Status :Not Attempted
Chosen Option :

Q-810 Find the HCF of 1048 and 1441.

Ans - X111
X 2 311
v 3131
X 4113

Question ID :9888374915
Status :Answered
Chosen Option :3

ng Complete the Analogy :
----------- : Foot :: Hand : Wrist

SISl AT FA:

Ans

Question ID :9888374943
Status :Answered
Chosen Option :2
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Q.11 The wamker of sides of & tegular pofvren whoss axteriorn aeles ars sach 107 &
0

Question ID :9888374935

Ans J 1. 36 Status :Answered
Chosen Option :1
X 2 63
X 3 46
X 438
Q.11 Two numbers are in ratio 1:2 and their HCF 15 16. Their LCM is: .
1 Question ID :9888374917
Ans x 1.16 Status :Answered
Chosen Option :3
X223
v 3 32
X 4 60

Q.11 lnDecerpies 2005, whe arsony tha Sl was sppeicied o e aew ChigfOpeying Officer
2 CO0)efAgple e

Ans 3 1. Johny Srouji

# 2. Tim Cook
/< 3. Philip Schiller

W 4 Jeff Williams

Question ID :9888374903
Status :Not Attempted
Chosen Option :

Q.11 Arun is the father of Chithra and Dinesh is the son of Bavana.
3 Manish is Arun’s brother. If Chithra is Dinesh’s sister, how is
Bavana related to Manish?

Sl TETe oA A/l T Qe e eEaE |
A e SIFeE ©R| WY fbar REeE @9 3, ere
SEE AEET (F W ?
Ans X 1 daughter

Nee

sister

2.
X AT

mother-in-law
S

'f , sister-in-law

(i

&3

Question ID :9888374961
Status :Answered
Chosen Option :4

Q;‘” The median of the data 3,3, 5,7, 8,8,8,9, 11,12, 12 1s

Ans x1. Q

Question ID :9888374942
Status :Answered
Chosen Option :3

K27
Vg
X412
QM The sur i £ 2 sphere with radius 2 cm is: ( Take 7 = =
5 e surface area (in sq.cm.) of a sphere with radius 2 cm 1s: ( Take J‘I—T) Question ID :9888374937
Ans Status :Answered
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W 1.352/7

o 2501
< 335221

X 4. 350/7

Chosen Option :1

Q.11 A (poesteon and taro statements Labsled (Th {107 are given, Yoi have o
6 decide which siatemestic) is/are aufficient to answer the gasstion

I o cods ‘bee pin tee means L AIways keep amlling”, Wit i the coda
for smiling™

L. In the some code, “tee 1ot lee* means * Always keep lefi®.

IL. Tn the sanme codle, dee pin® medss “Rose smiling®,

/< 1. Both the statements together are needed.
< 2. Statement I alone is sufficient.

2 3. Statement II alone is sufficient.

' . Either I or II alone is sufficient.

Ans

Question ID :9888374978
Status :Answered
Chosen Option :2

Q-711 For a Computer, BIT stands for -
Ans  of 1. Binary Digit

/< 2. Built-in Integer

/< 3. Binary Task

7< 4. Binary Integer Transfer

Question ID :9888374889
Status :Answered
Chosen Option :1

Q{-; 1 Correct expression of 2.56=? (the bar indicates repeating decimal)

Ans 560

1. 2 ——
" 20

36
2922
v %

56
3.2 —
" 1000

56
4. 222
x 100

Question ID :9888374912
Status :Answered
Chosen Option :2

Q.11 Pointing to an old man, Malini said, “His son is my son’s maternal
9
uncle”. How is the old man related to Mali?

« 1. Father

/< 2. Nephew
# 3. Grandfather
# 4. Brother

Ans

Question ID :9888374959
Status :Answered
Chosen Option :1

Q.12 lnwheh af tes Grlbr g ciees cin Totnl bivctal Felleshon (wbom ampds of deiakace o grenks
0 fuun e coitival monhet Take plaps®
When hipht sravels iz

#< 1. Glass to Diamond
+ 2 Diamond to Air
3. Air to Water

# 4. Air to Glass

Ans

Question ID :9888374866
Status :Answered
Chosen Option :2
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